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4. The length of a rectangle is increasing at a rate of 8 cm/min and its width
Is increasing at a rate of 3cm/min. How fast is the area of the rectangle
increasing when its length is 20 em and its width is 10 em.
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If y is defined implicity as a function of z by the equation z + y = siny,
then the value of y” at (—m, 7) is equal to
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VE B 7. The function f(z) = z—2cosz, on [0, 27], has a horizontal tangent line
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9.  The position function of a particle moving in a straight line is given by
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~ s 11.  If f(z) = x|z — 4], then f’ (4) = [the left-hand derivative]
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~ #YS 13. Which of the following is an equation of a horizontal tangent line to
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r ‘”f’:\‘ 15.  The slope of the tangent line to the curve
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